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> Simplification  (MATHS /Day-1,
> Quadratic Equation
> Data Interpretation - (Table)

> Data Interpretation - ( PIE Chart}
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Question 1- 682+ 752 + 1152 =7

- VR
= 46445695+ (1235

——— =

= 220
| B.25674

NG C.33473
D D.22474
_ENone of these
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Question 2- 62 X 68 + 110 x 120 — 143 =7

CQ/X&-:LQIQ =H2IC+ 13200 - 2741

\

A.12672
B.22672
C.23672
D.11672
F-None of these
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\
Y Question 3- (200 + 400 + 2 of 0.25 — 250) + 2 = 50
T 3- (200 + 400 + 2 T 0.25 — 250) =2 = 50

0= (406-# Hoo — |

= - X
A.10
50 = <90 +§og B. 20
5 X | C.5
/S?é; @ D.8
[ X __E. None of these
=19
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Question 4- /6% of 450 - 33.33% of 540 + 2 = 100

T4 4- 450 0T 60% - 540 =hT 33.33% + ? = 100

=)

A. 143
B. 123
C.133
D. 153
E- None of these
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Question 5- [(4/5 0f 400 + 2/3 of 126) — @ 440 x 3/8)] = ,

on \
A= L;X%JFQMJ [220 3

=)

_AA69

Ho4- 35 B. 159
. C.129
— 8J D.119

———————

E. None of these
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A3 B = <3

Question 6- 11.11% of 5400 + 23.23% 01 49500 = ?

T~
5400 T 11.11% + 49500 b1 23.23% = ?

& 60

99 6-

A.13100

B.11100
—€-12100

D. 14100

E. None of these
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19 _
= 45+[9oo + L0235

LAGLES = e

Question 7- /421875 + 19.19% of 9900 + 45 X 45

A.3300

B.2210

C.1100
—P-4000

E. None of these
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\Quest10n8 . of1400+2 84% of21000f99 ?

4 8- 1400 kT 14.28% +%100W42 84% + 99 T 23.23% =7
20

HO0
= [y (o
|L\j—"‘/°0¥l“"28 —/j( —ngg + 3 DX I

“—A1123
B.1133
C. 1223
IDRIPRR
E. None of these

._/_l
l 1 = 1123
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Question 9- IT.11% of 900 + 22.22% of 1800 — 44.44% of 3600 =7

TF9-900hT 11.11% + 1800 T 22.22% — 3600 kT 44.44% = ?

sie \GeL
(00 /" 9u0
A. 1100
B. 1200
—€. -1100
D.-1300

E. None of these
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Question 109.69% of 3300 + 36.36% of 4400 + 45.45% of 2200 =7

T4 10- 3300 kT 9.09% + 4400 =T 36.36% + 2200 hT 45.45% =7

=)

Lo o
X*i%ﬂ-_X—Lf-L}eo_/_ SX 52020z
—tH—

A. 1900
B. 3900
—C. 2900
D. 1600
E. None of these

— ‘QjOQ
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Question 11 - of 6400 + of 8000

T4 11- 6400 kT 12.5% + 8000 =T 62.5% — 1600 <hT 37.5% = ?

=)

/ 860 (060 200
= /@—/Z»éir‘@@ 900 — S lbon
8
A. 4200
= 2800 — o | B. 3200
= J0g C.3300
g— _D. 5200

E. None of these
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Question 11- 33X27 +99X24 +2560==8 = ?

= QI+ X3F+ 30

= J56871
-%’
A.2587
B. 3587
C.1187
D. 5587

E. None of these
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Question 12 - 30% of 140 + V2197 —4=2

T 12- 14OW3O%+ _4=9

A.41
—B-51
C.71
D.51
E. None of these
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Question 13- (360 +54) ©6-10=?

el 63 -5
_ _é—j
I A.49
—B-59
C.29
D.39

E. None of these
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Question 14- 96 X 94 + 102 X 107 — 248608 =

96 1 2

0 S fP | = FoUF 109k =300
— = 19038-3100
F=3o 24 = |68 A.16838

[0 , | B. 15848

[0 F R C. 16844

hd
< D. 13538
‘Q J IL] / E. None of these

https://t.me/mathbytarunsirmepl




o~

SBI CLERK 2023 Mj2oreile Batch | I\A

https://t.me/mathbytarunsirmepl




=)

SBI CLERK 2023 ¥ <Ucil< Batch (I
Question 16-____7_600 + 3188 + 4463 = ?

— I LfOOC)
100
By

A.11251

B. 13251

C. 14251

—P-15251

E. None of these
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Question 17- 666 < 37 + 4572 — 2346 = 2

=)

2 C - /8 + 4572~ 2548 @
\>>\/ _ H5j0~ 23 3(}
y( - _A2244 \\’\\1
B. 3344
C.1144
D. 4444

E. None of these
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Question 18- —of16990 +— of 1700 — 37.5% of 400 = ?
13 17 SO
= 9500 + 500 — |50 e

A. 4440

_B-5550

C. 4550

D.3550

E. None of these
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Question 19- 20% of 1568+ 75% of 1200 — 40% of 560 = ,

Tq 19- 1500 =hT 20% + 1200 kT 75% — 500 <hT 40% = ?

I

D. 1300
E. None of these
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Question 20- 20% of 45 x50% of 20 x? =810
94 3- 45 WZO% x20 x <hl 50%? = 810

L /U/S% >/(ga>(3(—_ 81 &
AR

X = _A9
B.7
C.8
D.6

E. None of these
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Question 21- (2.89)° + (4913 = 1000)° x (0.17 x 10)°> = (1.7)"
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B.11

C.8

D.9

E. None of these
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Question 22- 25% of 44 of 240 = 2% of 26266~

TF 10- 44 b1 25% + 240 =hT 50% = 26200 pT 7%

I+ 120 = 263« A.0.1
1: B.0.2
| 0.5
> D.0.4
J(Q Q‘S E. None of these
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